¥

L

ﬁl’rﬂf‘fa_!ﬁ C. N. THOMSON, C, A.(cHAIRMAN). J. D, Mc.GREGOR, C. CALLCOTT REILLY, &.sc.
A. F. PALMER PHILLIFS, R.C. THOMSON. C.A., J. I. MURRAY.

C?'élegrczms.- Cymast - Byfleet - Surrey

HEAD OFFICE & FACTORY

777 TUDOR WORKS, CHERTSEY ROAD,
clemaster((@)) =, sonner
Fi e TR D Telephone: Byfleet 3145/6/7

SALES DEPARTMENT . y

154, SHEPHERDS BUSH ROAD,

PRODUCTS CYCLEMASTER WHEEL

L 0 N D 0 N ? w- 6. PIATTI SCOQOTER
CTele/N‘Lone.- RlVerside 3149
\ DEPT.
OUR REF. SERVICE
YOUR REF.
May, 1957.

PIATTI SERVICE BULLETIN NO. 8.

TO ALL PIATTI DEALERS.

PIATTI' MUD FELAP.

From Engine no. 4100, the specification of the Piatti Scooter is
amended to include a mud flap. This flap is of a strong weather
resistant P.V.C. material and is riveted to an angle brawetwhich, in

turn, is secured to the Scooter body cross member which carries the
stand.

The mud flap assembly, together with mounting bolts and washers,
can be supplied as an accessory for fitting to earlier models.  The
retail price is 3s. 6d. and is subject to our usual accessories Discount.

EXPORT 2s. 0Od.

To fit the mud flap to machines prior to the above, proceed as

follows :=-
1. Lay the Scooter over on the left-hand side.
2. Remove the two long 5/16" B.S.F. bolts (one each end of the cross

member ) which pass through the rear of the stand 'U' bracket and
cross member.

3 Place the mud flap in position so that the bolts removed (item 2
above) are now located forward of the mud flap assembly and
therefore, the flap itself projects downwards and rearwards from
the mounting strip.

4. Re~fit the two 5/16" bolts, passing them through the mounting
strip of the flap assembly, the stand 'U' bracket and the cross
nember. Replace the spring washers and nuts and securely
tighten. Up to engine no. 3131, 5/16" x 3/4" bolts were used
and the nuts placed inside the cross member. To facilitate
assembly, the cross members of later models were drilled right
through and longer bolts (5/16"™ x 1.3/8") provided.

If difficulty is experienced in re-fitting the original nuts, it
is recommended that the cross member be modified using the
underneath hole as a pilot and drilling a 5/16" diameter hole
through the top flange of the cross member, Replacement bolts
of the longer type will then be necessary.

5. Check the stand to ensure easy operation. This should also be
checked with the Scooter upright.

Further copies of this Bulletin are available on request.

CYCLEMASTER LIMITED



1 =
'
1
I o
1 »
5 n
' SRR A o I“
b ‘ 1
P G L i ‘:l‘“!. ! y
* ¥,
. -
- v .

L

‘r

e d(\_r‘.‘ B2

v = *n
] | a
e i
| i i

i
" |
tl ) . )

1 1 1
i e L
|- | ! H 1
, r : +

r.,", | e w N ot SN weinh - .

e

i
\Z +
Lt
o}
» . (
. . |
’ » |
! f
» L i . |
B |
3 [
! & i [ : - 1 f
5 - .
N | 1 :
I L i : ‘e i :
(L .
Il ]
1
£ g .
] n E .. 2 . E 3




IceniCAM
Information Service

www.icenicam.org.uk



